
Wie viel % sind…

7 von 20 ?
7
20

= 35
100

= 35%

8 von 25 ?
8
25

= 32
100

= 32%

16 von 36 ?
16
36

= 4
9

= 4 :9 = 0,44444... = 44,4 %

 
Berechne…

40% von 55€
4

10
⋅55 = 4⋅11

2
= 22 € oder 0,4⋅55 = 22 €

7% von 60€ Kopfrechnung mini−Dreisatz : 1% sind 0,6 € , also sind 7% gleich 4,20€

75% von 48€
3
4
⋅48 = 3⋅12

1
= 36€

 
Berechne jeweils den Grundwert

12% sind 27€
12 % ≡ 27 €

4% ≡ 9 €
100 % ≡ 225€

70% sind 63€
70% ≡ 63€
10% ≡ 9 €
100 % ≡ 90 €

15% sind 30€
15% ≡ 30 €
5% ≡ 10 €

100% ≡ 200 €


